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geps yMlallude / SOCIAL SCIENCE
( 50 wHDId Syl culfl / Tamil & English Versions )

Cryb : 2; weson | ) ' [,Gimgg, wEHIGLITH ST : 100
Time Allowed : 2 Hours | | [ Maximum Marks : 100
ugE) - 9 / PART ~ A
(GG : 30 x 1 =30 ) / (Marks : 30 x 1 =30)

@iy /Note : . Soasg alaTeasE@nsEh el sHs.

All the questions should be answered.

sflurer el ows CaibOsdéesanD :

Choose the correct answer :

1. o2 e et sihens erep) aism%pese)uu@umrr
a)  elLed Ny b) Mouer Syy
c) emeii Mgy ‘ d) dleversu Uyy.
The father of local self government in India is
a) Lord Lytton b) Lord Ripon
‘¢)  Lord Canning ' d) Lord Clive.
2. 1893 24b oI 2 wsE Fw IHTH Bl CluDD @b
a)  GuesoTL 6dT b) &éanCaim
c) &OHSHST d) edug.
World Religious Congregation in 1893 was held at
a) London b) Chicago
¢) Calcutta ' d) Egypt.
3.  ivelbsEnsHeE soNbTEH GeustorIwestny Cal L eurm :
a)  garem b) meurls sedlapsveor
C) WG BWEIGTET - d) 6 &(Sasrrg,:;rrr&;srr
Separate state for Muslims was demanded by
a) Jinnah b) Nawab Salimullah
c¢) Syed Ahamad Khan : d) Ali brothers.

-
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4.

utiqwér I-ep ulgwe II 2 & QuUIBSHEs :

ulgué I
A)  aléedlwud Gluesong i
B) Geudlevened
C) Leé@anerd
D) &irgedr
Match List I with List II :
List I
A) William Bentinck
B) Wellesley
C) Dalhoi;sie
D) Curzon

giflurer ilo_eows Coitey Clews :

Choose the correct answer :

A B C
a) 2 1 3
b) 4 3 1
c) 3 4 2
d) 1 3 4
uligwé I-ey uliquen II 2 | & G\urr@,{r)gjsa :
urgwe I
" A Geur
B) e&meer Ulyy
C) Oguanlbs

D) Qsenfl Qaenym
Match List I with List II ;
List I
A) Ilbert
B) Lord Curzon
C) Jai Hind
D) Chauri Chaura

-

2!

giflurer eflsoLeows Csiay Cl&us :

Choose the correct answer :

A B C
a) 4 3 2
b) 1 4 3
c) 1 2 4
d) 2 3 4

W N~ g

()

2

W N

e S

BN =

e

ucigwev II
aurfla @l Osreiens
cubisUflalen eor
gleoeLL S S LD

g8l epfltiL.

List II
Doctrine of Lapse
Partition of Bengal
Subsidiary Alliance System
Abolition of Sati.

uLligweo II

2 A0y Ceeid

Cpared
LPBISTE Hlen e 6yé &ledi coThig e
gl L 2 munlleri.

List II
Uttar Pradesh
Netaji
Ancient monuments
Law member.



6.

U igwen I-ep uiqueén IX > L QuUTHhESIs :

B)
C)
D)

Match List I with List II :

A)
B)
C)
D)

uCigwe I
Gurdlevrér Cmm

Qe evsnuSlymi

HITEOT LIGICV SHLITITEHIT 65T

aNGermururGeay

List I

Motilal Nehru

Lala Lajpat Rai
Khan Abdul Ghaffar Khan

Vinoba Bhave

aiflureor efleor_eows Caiey Cleus

Choose the correct answer :

A
a) 3
b) 1
c) 2
d) 4

.

2
3
1
9

C
1

W N

w & g

31

3

=

. S b

Ul iqué I
L_}@&m Hrsb
FWITHW &LU_&l
yblgrer @uésb

TGS SITHS) .

List II
Lion of Punjab

Swaraj Party

' Bhoodan movement

Frontier Gandhi.

8029

sflurest snpeons Coita; Qaws : ( & pé&Hesot_supiler epaim; ol HGW &Mwrer snpmy )

a) efliien Syy 2 sierm & gheog ersin UL sl QUDDTT.

b) UEETL LGEDaESPSD Gissd LFyame Bneuliul L g).

¢ e STE QS D UBE B L H5S QETar( eubss!.

d) beou aatgblsdle allausru oyymiéd dlneueid G\g,rrL_rfﬂ&;uuL'_l_g.

Pick out the correct statement ( only one statement is correct ) :

a) Lord Lytton earned the title “father of local self government”.

-b)  Lord Curzon founded Puhjab University.

¢) Lyttori's government passed the Indian Arms Act.

d) An agricultural research institute was statted in Mumbai.

[ Turn over
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8. eflurer sapeonsd Camey Qs : ( &?gpésaaccb'n_mfb@é et i GCL sflure sabmy )
a) HCursr ercip Qerd Gavssest CurPullelmbs QunliLLL g.
b) HCurem eresiug HLayements LHBIW HDleUT@D.
¢) HCurem, QidHlé LFbEhTesd eTen SeDPSHSILL L §).
d) Aybberer seUlET Gea@bLGD (YLl 2 6Ters).
Pick out the correct statement ( only one statement is correct ) :
a) 'I‘.he word ‘Theosophy' has been coined from Latin. |
b) Theosophy means knowledge of God.
c) I Hindi Theosophy is called Brahma Gyan.
d) The headquarters of Theosophical Society is in .Mumbai.
9. eflurer ampeops Coia Cews : ( Spssaiaupble e w GG sfurer sapm) )
a) Crored @pduralesr @by wefsi eTn e PSSILL LTI '
b) @bIWUT GiguTE e BTel Slaburr 26,. 1948.
c)  surrHu sl dl yelluyl dondle Cambnelssiu g.
d)  @remimd 2 esnGuTT e g 1937 oib S4eH.
Pick out the correct statement (- only éne statement is correct ) :
a) Netaji hailed as the Iron Man of India. -
b) India became a Republic on 26th December, 1948.
c¢) The Swaraj Party was formed in Alipore prison.
d) The Second World War broke out in 1937.
10. sflurer sapeonsd Coia Qebs : ( Spsseo_subdle e GG sflurer smbmi )
a) e aGerm @uées LIHTH HoLQUDD G)Lib CuaAGHL. -
b) enié eowliilds seambusd C&wLEHT. _
c) euridl’ Q&Teiamsamw Lﬁ]s&rurjygﬁ]w BT oot
d) srrde Gurt 1975 & peoL Qubnal.
Pick out the correct statement ( only one statement is correct ) :
a) The first conference of non-aligned movement was held at Belgrade.
b) Cairo is the headquarters of SAARC. '
c) China government followed the Apartheid policy.
d) The Kargil war took place in 1975.
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Camgl L @Lisemer gflwreor oL Q&retsr® HIFLiys

Fill in the blanks with the suitable answers :

1l

12

13.

14.

G Huralesr Quiflu SEO6BT ... .
.................... is the largest dam in Asia.

Qb Caiieen 2y @EDID .......... o STESTMID D PSHSHILRHSIDG).

The Election Commission of India is also known as .................... :

QbSlw LTTTE@BLBSTDSSID ..vovvevrrnenee SIS 2_GiTeTeD .

The Parliament of India consists of ..........c..convee. houses.

uTesoT(Ri LTHTE HEOLOILIDD SLETE ..ocvvererrrvaene

The Bandung Conference was held in the FEAD & e :

QHHWTENED ..o Gy ufleow w 8L 2 sferg.

Indiahas ..o citizenship only.

sflures el ows Coira Qals :

Choose the correct answer :

16.

17

18.

@ursw suraler 2 puileriaefle eradoremiléams

a) 238 2_puilesriselr b) 248 o puflerigselr <
c) 250 2 pileiee d) 12 2 puesise.
The Rajya Sabha consists of

a) 238 members b) 248 members

c) 250 members d) 12 members.

@Qbdlu CaiTge oD jwhgieTer @) b

a) pbeou b) O&geTever

c)  yggleved o . d) Qerasss.

The Election Commission of India is situated at

a) Mumbai b) Chennai

¢) New Delhi | | d) Kolkata.

(PSS & ey Hublier

a) Ulys IEWEEIT " b) 24 @b

c)  GQuUIsEH Heoeveurr d) el CGureveus sHeveveur.

‘The Chief Minister is appointed by

a) the Prime Minister b) the Governor
c) the President _ d) " the Speaker.

8029
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19. Suspu @Qhdureles Hpsdla 2 ey

a)  oCpiwr . b) @nCsrdem
c) @osred d) sfwr.
The Peninsula, east of India is
a) Arabia ~ b) Indo-China
c) [Italy d) Iberia.

20. UGS eTELLES ghD Wedor
a)  &iflac wedor b)) eutLé
Cc) ey - d) Qe&boes.

The soil that suits for cotton cultivation is

~a) Black b)  Alluvial
c) Sandy : d) Red.
21.  sEHETaLT LTALL S5 2 sitem Qper Sy ymiss) evowb
a) GLuGsTembd : b) sEheTey
c)  Sbhseon d) uwruprsb.
The place where a rice research station situated in Thanjavur district is
a) Kumbakonam ' b) Thanjavur
¢) Adudurai d) Papanasam.

22 UI.'.ILq.uJéJ I-puligque II 2 1 &1 QuUIBSES :

U igwen I urgwes II
A)  seooié ' 1. @Qurése UyCsan
B) UG e sseT 2. uEHsTLl
C)  =yufeir 3. wsHu NyCseid
D) CGargeow 4. Quhe euhsmenrd.
Match List I with List II : :
- List I } List II
A) Jute 1. Himachal Pradesh
B} Pulses 2. Punjab :
C) Apple 3. Madhya Pradesh
D) Wheat 4. West Bengal.

- efflurerr efleoLows Csiey Clews :
Choose the correct answer :

A B C D
a) 2 1 L 3
b) 3 2 1 4
c) 4 3 1 9
d) 1 4 3 2.



23.

24.

ulquwe I-ep uliqueés II 2.1 &b Qurr@g,g]a, g

A)
B)
<)
D)

7

uliguwe I
somib Gl LT
Crum mer
(pbemL
QLT

Match List I with List II :

A)
B)
C)
D)

List I
Jamshedpur
Nepa Nagar
Mumbai
Perambur

eiflurer efleoreowg Csita) Cl&us :

Choose the correct answer :

a)
b)
c)
d)

A)
B)
©)
D)

B - C D
2 1 3
1 4 2
4 1 =
3 2 4.
L gwée I-en uligwé I 2. & QuUTBSES :
uigweo I
ST
&IHI60) &

A
4
3
2
1

6LIL_ 6TEVEDI GV
sésment Syl

Match List I with List II :

A)
B)
C)
D)

List I

Satpura

The Ganga
North boundary
Deccan plateau

giflurer efleor_eows Caiiey Cl&s :

Choose the correct answer :

a)
b)
c)

d)

A

= W o= N

B € D
3 1 4
4 3 2
2 4 1
1 2 3

B ke =

)

3.

8029

uigweé II
1. umss Ohaarane
2. @®b 6@ Qamiflevsid
3. @uulebluly Qamifibsree
4. o srdls 6. '
List II
1. Cotton textile
2. Iron and Steel Industry
3. Rail coaches
4. Newsprint.
uliguweo IX
@)wwinemen
g(p Wy liys e
amO&ef
oomeur Lyl
List II
Himalaya

Seven folds
Hooghly
Lava plateau.
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25.. eflurer sgpeond Coiiey Qews : ( af%pé.aamn_mg')ﬂsb.@sﬁr@j GG sflwrer sabmy )

a)

b)

s

26

d)

albFlu-grSHUTT LIS BTG LGTNHSTEHDE BETTUTS UL &E ChHeTs
Qe dlemet. |
lbPHW &6 BTG LGTTSSTHEGT LssE &euiesGar. ‘

@ bweressfler UTEDES T Qqsqtlurremg)aaerrrre'\) 201G

 Qbweessflaeien 2 wihs Serb o wee.

Pick out the correct statement ( only one statement is correct ) :

a)

b)

c)

d)

The Vindhya-Satpura mountains run north to south parallel to the

Narmada valley.
The Vindhya mountains are the side walls of the Narmada valley.
The rocks of these mountains are made of sedimentary rocks.

The highest peak of one of these mountains is Mount Abu.

sflurer sabeons Caiay Qs : ( Spsso_aubbler eein wl GG sfurer sbny )

a)
b)
c)

d)

shm&s sn0leuelllés sTaOTlL@D STHSET LT,
Qbdluraler Blevssfl SesEh eul L myb HibsT LeTSsTaE.
@bdlurallest wreTGlauLii (Wpberu 3 Gib.

Samit wrbleid uTémsl. oifle el 2 Husd Qelyb wrHled.

~ Pick out the correct statement ( only one statement is correct ) :

a)

b)

c)

d)

The forest found in the Gangetic delta is Taiga.
The region where coal is found in India is Narmada valley.
The Manchester of India is Mumbai.

The state producing bauxite in good quantities is Bihar.



97,

28.

9 i 8029
gflurest saheonsd Caiey Qeis : ( & D& essTLeubidléd @é‘r@ L G8w sflures sabhm )
a) Slbaraie aarsgiop UrTLES Hineed &@m&;&:UUI_@GITG!TQJ

b) &rigersser Hlemser Bleblden a;rsmgp&)@&@ ©&E5065E Slo G)_I@I_IEJ&B@&:@
ol Gib Qar@sstiudns.

c) wyd Qe @b =2 flew Quppearissr @OUILL sreasdheer e @rj)"luljh_L
wyhseer Geul L CeoucssrHib.

d) prOLRSleDd wyb HH alpr ClelL bul wHnb H&CLTUT brskselle Bl CuDHD
UGSHDY!. ' -

"Pick out the correct statement ( ‘'only one statement is correct )I:

a) In Shimla, there is a forest research organisation.

b) The lands of the forest department will be leased out to the poor for a few .
years only.

c) Those who have obtained the rights to fell forests had been compelled to cut
only particular trees within the stipulated time periods.

d) Tree planting ceremonies have been celebrated during September-October
EVEry year.

sflurer sapeons Caiey Qsis : ( Spsscoapdle e wG6 efure smbpi )

a) w&sMAgTEsa ouytiuaL e Ghdur Gresrrag Quflu Hrirgb.

b) wesMOsT@HL  Udel  olammser 5 oy &SIRSEHES @G WPOD
&HEOTHSIL_LILEEDE.

c)  elLTeug oheTaiRs Sl sHlar wpsHlu Crrisb 2 aviald sarallona) UGD.
d @ndurale Cajemale s s ol Qs GaDey.
Pick out the correct statement ( only one statement is correct ) :

a) India is the second most populous country.

'b) The population census is taken once in every five yeérs.

c) The Eighth Five Year Plan's main aim was self-sufficiency in food.

d) In India, only in Kerala the women are lesser in number than men.

Gamyl L @Lrsaen sflurer ale. Qemesr® HiFliys :

Fill in the blanks with suitable answers :

29

30.

sBlpBT g6 Uiy Blassfl 2 Husd Qebuyd UGS .wvweereeees

Lignite producing area in Tamil Nadu is .................... :

@bduralss w&e6TOGT®s AHSWPSTET THEIGID w.movrrereerereren
The state having highest population in India iS .................... .

[ Turn over
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31.

32.

33.

34.

35.

36.

u@d - 9 / PART - B
(0fiQuedser : 10 x 2 =20 ) / (Marks : 10 x 2 = 20)

@gﬂﬂq.!Note:  aperdol uedddehe mree elamssEsGh, @9 wlud
u@@uﬂéﬂ@ﬁ;@ Ge@ eleréeEnsGn, Leilllue eSS BHa
Breie  onssEndeh, s Ourssd USH ITTTESEHSHES
F(HSHHLTS alleL wellébesab.
Select any four questions from History, any two from Civics and

any four from Ge_ography. Answer ten questions in all briefly.

eugeorpl / HISTORY

qeoaCueld Breare alamésEnsdd Wl-Ob el SHs.
Answer any four questions.

Qiduralemhs S ndlCowflar aemls sehsmens GOILIIGS.
Mention the trading centres of the British in India. |

1857 b o e0or(® Yyl &lullen @r;rrrwﬁﬂ Qevl_sriblumulest LAIEG WTg) ?
What was the role ‘of Rani Lakshmi Bai in the Revolt of 1857 ?
@\ T &) 6iyewoT LOL_Sl6bT usﬁuﬂasme‘r_r TDEIS -

Brin.g out the services of Ramakrishna Mission.

&% Uerey ubml eBlly eues.

Explain Surat split.

weyesor CuiL et b upldl elenéd@s.

Explain Mouhtb_a-tten Plan.

gritd 2 mIiiy prEseilsr QuuITeeer er(Ws)s.

Name the member countries of the SAARC.



37.

38.

- 39,

40.

41.

42.

43.

44,

45.

11 8029

&g owullué / CIVICS
sreoeuCuenid G)yedor® alleormée@hée wl-Ob el HHs.
Answer any two questions.

QoL Gigwys: g;m@mgw&Q CaiipQlsR&oL LR aSHS T s5&He6T erestet 7
What are the qualifications required for election as President ofkl_ndia ?
@)L $Caitee erepTey eradenT 2

What is.By-eleclion ?

‘cuuig,; UbGHITT SemeTeuhBEGD eurdEflow’ aaip Qardelaear aleréds ?

Explain the term ‘Universal Adult Franchise'.

_ yallluéy / GEOGRAPHY
eTemeUGUEID BHTeTG eleiTéaEhéE LL.Hb el H(Hs.
Answer any four questions.

Fuspu @bdurelest WeéHU 0SS Teel wTeea ?

What are the important mountain ranges in peninsular India ?
ELIGTOTL 6V mco’m‘@ﬂe&‘r BeTeowsemen allaufl. |

What are characteristics of the alluvial soils ?

susbhu @hdurele eleeruyb wesdHu LiTaeT LTea ?

Write the names of important crops cultiﬁated in peninsular India.
@smgo'@g_; UL & &DHD6v I|6mey éreﬁfgprréu erst'r_rem ?

Whlat are the minimum levels of learning ?

USSTeUS ShsTETHS S L Hdlesr Qovée GI'GET[GC;T ?

What were the goals of the Tenth Five-Year Plan ?

seriiuel Glelwsd Coemeuwme cpein ©l&wWsmens sn@&,.

What are the three important activities in the preparation and conduct of field

work ?
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46.

47.

48.

u@d - @ / PART - C
(dliIQetsTaHeT : 6 x 5 =30 ) / (Marks : 6 x 5 = 30 )
@oluy | Note : i)  eador allamss@rdeb alaol &ms.
Answer all questions.
i) eaiGeur®m oJeomalepd syuul@eter  wrHY eleaTéseN

gCseIb 6petTDESHE WL HD allevL welléseayb.
Only one of the alternatives in each question should be.
answered. |

2 adlGewt @hdluraler aaiallsd sb aetle sanser Hnelerr 2

/oG

1857 =yib o1 Yyl Elllesr elemeraysamer o1 (1818 .

How did the British establish their trading centres in India ?
OR |
State the results of the Great revolt of 1857.
@bdu sehdly CurymL sdHe &l.msi*y‘ ghslTCurélesr Lhdlemeyb, @bl (Eg_)éﬁu.l
@reRieusdet Lkideenyb LB erapss.
g

sopdyd Oubps wss EpHuredd ghul@sier  oflelue  GaTHdpLu
aueni& Slflemest LHLINES . :

Write about the role of Subhash Chandra Bose and the Indian National Army in
Indian Freedom Struggle. -

OR
Estimate the growth of Science and Technology in India since Independence.
QhHu GYwyss ra;meumﬂs& SFlemrseenyd uetlseenud aleul.
Gevevg/
Qglu Carger ofemeniugdlet Hlerrrser, Leolae Wremeal ?
What are the powers and functions of the Pre.sident of India ?
OR

What are the powers and functions of the Election'Commission of India ?



49,

51.

] . | 8029
2_qiienr &) Sevwliyeefler 2 pililleiser eeueurp) CaihOsO&alLR&laTneTT 2
2/ebevg/

amsGfon,. arserai S@LUTET oL, aUTESMNGGD WD < slue L)

alifleuns eT(W&I&.
How aré the members of the local bodies elected ?
OR

Write in detail about the voting right, voter identity card and the voting system.
QaatGuhE umeussThr - alleufl.

2feVevg
LT BIBDL 6@ 2O DLW FTHHDTE Q)BHS aangcc#sﬂ&emmé: a5 .
Explain the South-West monsoon.

OR

Mention the conditions that favoured the loc:a-tion of the Tata Iron and Steel
Industry.
ol @ cusdlow odelsas Galw @r_’ag‘;]u.l‘ oerheh CLHOETE@IE aIEmD puH & eir
urpfﬁ\ edleurf). .

Seegi
@bl alle Lné:.&.a'v@g,rrmea Lyeuemeots LpM elfleurs afleuf.
Describe the efforts made by the Indian Government in regard to Housing.

OR

Write elaborately about the population distribution of India.

[ Turn over
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52

53.

uggl - # / PART - D
- (wEOUTTEET : 4 x 5 =20 )/ (Marks: 4 x 5 = 20 )

©fliy | Note :  edar alamésse@nsed aloL sHe.
Answer all questions.

Qb amguLsdler LoQapard) Wyyeler oLl uedHeomer cuoThe 2l

& P&H&HETIL. @) HEeTsH GNSHSaD.

a) QLéed
b)  pbew
c) Usnmi.

Sketch the English possessions in India during the time of Dalhousie and mark

the following places in the outline map of India :
a) Delhi
b)  Mumbai

c) Bihar.

af@é@eo‘mp Papsdlemer sraslariqer owsHES
a) Qumeresl gL b

b) 2.0y esslurdlysd

c) Qeerfl Qaeamym Hlapss

d) eaumsifNaSament

e)  weyeil GuiL et gL ib.

Draw a time-line chart for the following events :
a) Rowlatt Act -

b) The Salt Satyagraha

¢) The Chauri Chaura incident

d) Partition of Bengal

e) The Mountbatten plan.



54.

15 i 8029
A susmr,ru:___.gé,]s\i Sp&eTaid gCseId speiTem L Hb U &/(GHI&HS :
a) Gamrgeow aﬁlmmmm LGla 6fr
b) &fled weor sreEILLED LGS
c) @bhdu sirefliures bou wse Oedimer oy QUEEH (PHEW
8D (LS KIS 60 6T & @ﬂé&,q‘m. |
Draw any one of the following in the outline map of India :
a) Wheat cultivation regions

b)  Black soil regions

c) Indian sea route from Mumbai to Chennai with two important harbours.

2 BGeT  SpeToLE® 2 eten  HymwsdHet  seTeTy Homowul ubdd  Pbs

Qeaneiaushsare serluaNésrs alang QrErileme alg aiinésalb.

Prepare a simple schedule of questions for collecting information on the

sanitation of the local area or the village.

.

@olUy :  uTTeveuwDD  LrETleUT&HET  eurULSSle QLismerd  GNIULILH&
ST Qeushel Lder el msomen ubdlu GOlLseT bLED (WS
GoucsorRid HHID STe&ECHTIYHEGD SeueurCn GOlULseT LLHL aWs

 Geussstid.

Note : Blind candidates may write only notes for the questions related to map

and time-line chart.







